
   

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

817 + 

M6 x 20 DIN7380 
+ 123120306 

S1007 

M8 x 30 DIN912 

+ 807ZN 

DUCATI Panigale 
V4 / S / V4R 
2018 – 2024 
Part Nr. 504 

 

EXTR.cod.820 + 

M6 x 20 DIN7991 
810R 

813RE 

813RH 

S0908 

M8 x 30 
DIN6921 

897 

M8 x 25 

DIN7991 

+ 123220508 

M6 x 10 DIN7991 

M6 x 10  
DIN7991 

M8 x 30  
DIN912                                                                                                                                                                                                                                                                                                                                                                                                                       

M8 x 20  
DIN912 

818088 + 

M8 DIN934 A2 
 

 

M8 x 30 DIN912 

+ 807ZN 

M6 x 30 DIN7984 

+ 123121406 

8176 

M6 x 30 DIN7984 
+ 123121206 

M6 x 16 
DIN7380 

817 

M6 x 16  
DIN7984 

819M6R M6 x 25 DIN7380 
+ 123120506 

M8 x 40 DIN6921 

between S1007 
and 5041L 

+ 123220908 


